>> Facts and formulas for Chapter 7:  t procedures for a population mean
· The t procedures require a normal population and/or a large sample size.  
· Do not use the t procedures if your sample data include outliers.  

· Do not use the t procedures for small n if the population is known to be strongly non-normal.
1. Confidence Interval:  A level C confidence interval for the population mean μ, based on an SRS of size n with sample mean 
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and sample standard deviation s, is 
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, where t* is taken from the appropriate column of Table D, row n - 1.  You may also use  STAT > TESTS > T-INTERVAL to find the interval on your TI-83 calculator.
2.  Significance Test:  To test the hypothesis 
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 based on an SRS of size n from a population with unknown mean µ and unknown standard deviation σ, compute the test statistic 
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In terms of a random variable T with n – 1 degrees of freedom, the P-value for a test of 
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Use STAT > TESTS > T-test to calculate P on your calculator, or estimate the P-value from the information in Table D, row n – 1.  Note:  The SPSS t-test output only shows the two-tail P-value.  The corresponding 1-tail P is either ½ of the 2-tail P, or 1 minus ½ of the 2-tail P.
2. To analyze matched pairs data, take the differences within the matched pair (var1 – var2).  Then proceed as above to calculate a confidence interval for the size of the effect (mean difference between the variables) or a significance test on the size of the effect.
3. Comparing means from two populations.  Significance tests and confidence intervals for the difference in means for two normal populations, 
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, are based on the difference in sample means from two independent SRSs.  

· Significance test for comparing two means:  2-Samp T Test

· Confidence interval for the difference in means:  2-Samp T Int

· Use “POOLED = NO” since we don’t have any reason to assume the population standard deviations are equal.
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